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ععمموومميي ددووااززددههم
ًا ززبباانن ررششتتةة ررييااضضيي،، تتججررببيي،، ههننرر،، ممننححصصرراً

 2424 دديي ممااهه 11440000
 

وقت پيشنهاديشمارة سؤالتعداد سؤالنام درس
(3) 2518فارسي   1 – 25  

(3) 2520عربي، زبان قرآن   26-50  
(3) 2517دين و زندگي   51-75
(3) 2520زبان انگليسي   76 - 100
75جمع دروس عمومي ــــــ   ��100

 

 

 

 

 

الهام محمدي��مديران گروه
معصومه شاعريمسئول دفترچه

مازيار شيروانيمقدم، مسئول دفترچه: فريبا رئوفيمستندسازي و مطابقت با مصوبات مدير:
زهرا تاجيكحروفنگار و صفحهآرا

سوران نعيمينظارت چاپ
 

گروه آزمون
بنياد علمي آموزشي قلمچي (وقف عام)

 آدرس دفتر مركزي: خيابان انقلاب- بين صبا و فلسطين- پلاك 923 - تلفن چهار رقمي:  021-6463

داود تالشي، ابراهيم رضاييمقدم، هامون سبطي، محسن فدايي، كـاظم كـاظمي، سـعيدفارسي محسن اصغري، حميد اصفهاني، سيدعليرضا احمدي،
گنجبخشزماني، الهم محمدي، مرتضي منشاري، نرگس موسوي، سيدمحمد هاشمي

حسين رضايي، محمدرضا سوري، مرتضي كاظمشيرودي، كاظم غلامي، سيدمحمدعلي مرتضوي، الههعربي، زبان قرآن ولي برجي، عمار تاجبخش، ابراهيم احمدي،
مسيحخواه، حامد مقدسزاده

عباس سيدشبستري، محمدرضا فرهنگيان، مجيد فرهنگيان، مرتضـيدين و زندگي فردين سماقي، محمد رضاييبقا، محسن بياتي، امين اسديانپور، محمد آقاصالح،
فيروز نژادنجف محسنيكبير،

رحمتاله استيري، سپهر برومندپور، حسن روحي، محمد طاهري، ساسان عزيزينژاد، عقيل محمديروشزبان انگليسي

مسئول درسهاي مستندسازيگروه ويراستاريگزينشگرمسئول درسنام درس

مرتضي منشاريفارسي محمدحسين اسلامي، اميرمحمد دهقان،سيدعليرضا احمدي  
فريبا رئوفيكاظم كاظمي

سيدمحمدعليمهدي نيكزادعربي، زبان قرآن
مرتضوي

درويشعلي ابراهيمي، حسين رضايي،
مهدي يعقوبياناسماعيل يونسپور

امين اسديانپوراحمد منصوريدين و زندگي
سيداحسان هندي

سكينه گلشني، زهره رشوندي،
ستايش محمديفاطمه صفري

دبورا حاتانياناقليتهاي مذهبي ــــمعصومه شاعريدبورا حاتانيان 

محدثه مرآتيزبان انگليسي رحمتاله استيري،محدثه مرآتي   سعيد آقچهلو،
سپيده جلاليفاطمه نقدي

 طراحان به ترتيب حروف الفبا

گزينشگران و و يراستاران به ترتيب حروف الفبا

تعداد سؤالات و زمان پاسخگويي آزمون

?
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ًا زبان)       صفحة: 2 آزمون 24 دي 1400   عمومي دوازدهم (رياضي، تجربي، هنر، منحصر
 
 
 

1- معناي واژگان در كدام گزينه، صحيح آمده است؟
الف) كرند: اسب به رنگ سرخ تيره    ب) شرزه: خطرناك
ج) وظيفه: وجه معاش    د) پوييدن: تلاش

سير كردن هـ) اسرا: در شب 
4) هـ، الف، ب 1) ج، د، هـ        2) الف، د، ج  3) ب، هـ، د

2- معني چند واژه در مقابل آن درست آمده است؟
مركب: اسب)، (دارالملك: پايتخت)، (آونگ: تخت)، (گرزه: ويژگي نوعي مار سمي)، (ضيافت: بزم)، (سودا: ديوانه)، (مباهات: سرافرازي)، (كهر: اسب )

ميان زرد و بور)، (وجه: وجود)
1) چهار  2) پنج   3) شش  4) هفت

3- در متن زير معادل معنايي كدام واژهها آورده شده است؟
هشان «در خوان نعمت ذوالجلال، از ستور و بط و از فاحش و مستور، مستغرقاند. بيدلان وادي انابت بر اورند باسق «كرّمنا بنيآدم» تكيه زدهاند و بي

تاك وصل يار مينوشند». ِق  ملك قناعت، در بيتالحزن فراق از شهد فاي
1) برتر، پادشاه، توبه، زيور    2) رز، پروردگار، پوشيده، چارپايان

3) بلند، ماتمكده، مجذوب، شراب     4) سفرة فراخ و گشاده، مرغابي، پنهان، برگزيده
4- در كدام عبارت، غلط املايي وجود دارد؟

1) بر خردمند واجب است كه به قضاهاي آسماني ايمان آرد و جانب حزم را مهمل نگذارد تا عواقب كار او مبني بر ملامت و مقصور بر ندامت نباشد.
ِر او مانع گشت. 2) چون پادشاه اسرار خويش را بر اين نمط عزيز و مستور داشت و وزير كافي گزيد و در دلهاي عوام مهيب بود، حشمت او از تتبع س

3) به صحبت دوستان هم مناز و بر وصال ايشان حريص مباش كه صور آن از شيون قاصر است و اندوه بر شادي راجح و فراق بر اثر و سوز هجر منتظر.
4) كافي خردمند و داهي هنرمند كه به ثقت و حقگزاري شهرت دارد، جانداران از اين سمت كريه دوستتر دارد اما سستعهد دونهمت قدر انعام نداند.

واژههاي كدام گزينه بهترتيب براي جاي خالي ابيات داده شده، مناسب است؟ 5- املاي
الف) دولت آن است كه امكان (...) باشد     تكيه بر بالش بيدوست نه بس تمكين است

 سروي (...) چون قدت از جويبار حسنب) ماهي نتافت همچو تو از برج نيكويي
ج) من نه آخر آن ثناخوانم كه در بزم تو بود  مسند (...) من از همگنان مرفوعتر

1) فراقت، نخواست، منصوب    2) فراقت، نخاست، منسوب
3) فراغت، نخواست، منسوب    4) فراغت، نخاست، منصوب

6- در كدام دو بيت از ابيات زير نادرستي املايي وجود دارد؟
الف) دلآزارا جگرسوزا بسا شبها بسا روزا    دلم با عشق جانسوزا به راحت ديده بردوزد

ب) منم كز رنج بيداري به روز آرم شب تاري  بدين خواري بدين زاري دلت بر من نميسوزد
ج) تفو بر آنكه چنين شاه را هميشمرد      ز جهل وارث جم يا خليفة هوشنگ
د) چگونه باقي كز هر طرف در او نگري   ز خون بيگنهان لاله رسته رنگارنگ

1) الف، ج  2) الف، د  3) ب، ج  4) ب، د
 

3 18 دقيقهفارسي
كل مباحث نيمسال اول

درس 1 تا پايان درس 9
صفحة 10 تا صفحة 81

تمرين تستي آزمون بعدي از كتابسهسطحي
سؤال  1 تا 289 / 289 سؤال
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ًا زبان)       صفحة: 3  آزمون 24 دي 1400      عمومي دوازدهم (رياضي، تجربي، هنر، منحصر

7- بهترتيب پديدآورندگان آثار «بخاراي من ايل من، في حقيقة العشق، مثل درخت در شب باران، تمهيدات، فيهمافيه» در گزينة ... آمدهاند.

1) محمدرضا شفيعي كدكني، عينالقضا�Ç همداني، عيسي سلماني، عطار، شهابالدين سهروردي
شهابالدين سهروردي، محمدرضا شفيعي كدكني، عين القضا�Ç همداني، مولوي 2) محمد بهمنبيگي،

شهابالدين سهروردي، عطار 3) محمدرضا شفيعي كدكني، عطار، محمدتقي بهار،
4) محمد بهمنبيگي، عطار، شريعتي، مولوي، عينالقضا�Ç همداني

حسآميزي» بهترتيب در كدام ابيات آمده است؟ 8- آرايههاي «تشبيه، استعاره، حسن تعليل،
الف) گرفته دل نبود هر كه را بود مغزي    كه زير پوست بود پستههاي خندان سرخ
ب) به گريه سائل [گدا] اگر روي خود كند رنگين  از آن به است كه گردد به ابر احسان سرخ
ج) چرا نباشد منقار طوطيان رنگين                كه حرف سبز كند چهرة سخندان سرخ
د) به تلخرو مكن اظهار تنگدستي خويش  كه از تپانچة بحر است روي مرجان سرخ

4) ب، الف، ج، د 1) الف، د، ب، ج   2) ب، ج، الف، د   3) الف، ج، د، ب
بيشتر وجود دارد؟ 9- در كدام بيت آراية «مجاز»

1) حـلـقـة فـتراك مـيگردد به قصد خون ما   دسـت اگـر در حـلقـة زلف معنبر ميزنيم
2) لببـسـتـة مـا بـيخـبر از راز جهان نيست  بـسـيـار بـود حرف كسي را كه زبان نيست
3) مـيتوان در روز مـحـشـر شد شفيع عالمي  نـالـة امـروز اگـر فـردا بـه فـريـادم رســد
4) گر رفته باشم زين جهان باز آيدم رفتهروان    گر همچنين دامنكشان بالاي خاكم بگذري

10- در مقابل كدام بيت آرايهاي نادرست نوشته شده است؟
1) كنم با وصل و هجران صبر چنداني كه بتوانم  كه باشد صبر در آغاز صبر و نوش در پايان (جناس همسان - تضاد)

2) هـلالــي و بـدري ز رخــســار و ابـــرو  تو پيوسته داري و گردون به ماهي (ايهام تناسب - تشبيه)
3) هـر قـدر افـزون شـود زر بيشتر نالد حريص  در پري دارد نيانبان سوز و زاري بيشتر (اسلوب معادله - مجاز)
4) مبادا هيچكس را روز سختي در كمين يا رب  دل گندم دو نيم از بيم سنگ آسيا گردد (حسن تعليل - ايهام)

كداميك از ابيات زير، «ايهام تناسب» پديد نيامده است؟ 11- در
1) تــو گــويــي بــدريـد گــوش ســپـهـر  درافـتــاد از طــاق فـيـــروزه مـهـر

2) در آب دو ديــده از تـــو غــرقــم    امـيــد لــب و كــنـــار دارم
3) شيرين به در نميرود از خانه بيرقيب   داند شكر كه دفع مگس بادبيزن است
4) يك روز به شيدايي در زلف تو آويزم    زان دو لب شيرينت صد شور برانگيزم

12- نوع حذف فعل در همة ابيات يكسان است؛ بهجز … .
پوچمغزي چون جرس در وادي امكان  سرآمد عمر در فرياد بيفريادرس ما را 1) فغان كز

2) ميرساند بال و پر از خوشه «صائب» دانهام   در ضمير خاك اگر يك چند پنهان ماندهام
3) بي ساقي و شراب غم از دل نميرود    اين درد را طبيب يكي و دوا يكي است
4) جويي چه «طبيب» از خم آن زلف رهايي     خوش باش كزين دام رهيدن نگذارند

13- الگوي جملات مشخص شده در كدام ابيات نادرست است؟
الف) من كه تا صبح، دعاگوي تو هستم همه شب   چه شود گر تو به دشنام كني ياد مرا (نهاد + مفعول + فعل)
ب) كـارهـا را كـارفـرمـا آب و رنـگــي مـيدهد   ورنه جوي شير زناري است فرهاد مرا (نهاد + مسند + فعل)

ج) نـتـوانــم ز خــداداد بــــگــــيـرم دادم      كاش گيرد ز خداداد خدا داد مرا (نهاد + مفعول + متمم + فعل)
د) رفـع مخموري از آن چشم سيه دارد چشم    چشم دارم كه خرابي كند آباد مرا (نهاد + مفعول+ فعل)

هـ) قطرهاي هم در سواد ديدهاش ميبود كاش  اينقدر آبي كه در تيغ است جلاد مرا (نهاد + متمم+ فعل)
1) الف، ب   2) ب، ج   3) ج، هـ   4) د، هـ
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21- مفهوم كدام بيت با ساير ابيات فاقد تناسب معنايي است؟

1) تا در حريم زلف او گستاخ گردي همچو بو  با صد زبان در خامشي چون شانه شو چون شانه شو

نميماند 2) لب از اظهار راز عشق بستم هر چه ميدانم  ز شوخي در دل سنگ اين شرر پنهان

3) پاس صحبت داشتن آسايش از بين برده بود  زير دامان خموشي رفتم آسودم چو شمع

4) كمال است در نفس انسان سخن     تو خود را به گفتار ناقص مكن

22- كدام ابيات، با هم تقابل معنايي دارند؟

الف) تا عزيزي چو تو در مصر دلم خواهد بود  نكند ميل سوي يوسف كنعان دل من

ب) ميبرد عزت غربت وطن از ياد غريب  آب از گوهر سيراب نيايد بيرون

ج) دل فايز وطن دارد در آن زلف    مكن دور از وطن اهل وطن را

د) نشاط غربت از دل كي برد حب وطن بيرون  به تخت مصرم اما جاي در بيتالحزن دارم

1) الف، ب  2) ج، د  3) الف، ج  4) ب، د

23- مفهوم كدام بيت در مقابل آن درست آمده است؟

ّنت دربسته را ادراك نتوانست كرد (نكوهش خاموشي) 1) بر لب گفتار هركس مهر خاموشي نزد    ج

2) مشو به مرتبة پست از سخن قانع    كه طول عمر به قدر بلندي سخن است (قناعت و بينيازي)

3) از كف مرگ توان جست به همدستي عشق    عشق در حادثة مرگ پناهي است عجب (حياتبخشي عشق)

4) از اصل نيك هيچ عجب نيست فرع نيك  باشد پسر چنين چو پدر باشد آن چنان (بازگشت به اصل)

24- كدام بيت با عبارت «پشم گوسفندان را گل و گياه رنگين كرده است و بوي شبدر دوچين هوا را عطرآگين ساخته است.» تناسب معنايي ندارد؟

1) نوروز، روزگار مجدد كند همي       وز باغ خويش باغ ارم رد كند همي

2) هنگام بهارست و جهان چون بت فرخار  خيز اي بت فرخار، بيار آن گل بيخار (فرخار: نام شهري)

3) نوبهار آمد و آورد گل و ياسمنا    باغ همچون تبت و راغ بسان عدنا

4) ديگر اي باد حديث گل و سنبل نكني  گر بر آن سنبل زلف و گل رخسار آيي

25- مفهوم بيت «ريگ آموي و درشتيهاي او / زير پايم پرنيان آيد همي» در كدام بيت زير تكرار شدهاست؟

پر روشني سفر گيرم 1) خفته در پرنيان رؤياها         با 

ُخلقت وزد بر باديه    بعد از آن خار مغيلانش گل سوري دهد 2) گر صفاي روضة 

3) به راه وادي عشقش تو را از سر قدم بايد  كه عاشق را نباشد باك از خار مغيلانش

4) ريگ دشت از نم مثال پرنيان     جاده بر اشتر نميآيد گران
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َّ  ﴿ -26ُّ إنما 
(۳۵ - ّالعربية (۲۶  عِّين الأنسب للجواب عن التّرجمة من أو إلی 

سولُه و  نُواوليکم اللّهُ ذينَ  ارکِعونَ ﴾:َر و الََّ َّصلا ةَ و يؤتونَ الَّزکاةَ و هم  آم الَّذينَ يُقيمونَ ال

1) سرپرست شما فقط خدا و پيامبرش و كساني هستند كه ايمان آوردند، كساني كه در حال ركوع نمـاز بـر پـا مـيدارنـد و
زكات ميپردازند!

2) سرپرست شما تنها خداوند و پيامبرش و كساني هستند كه ايمان آوردهاند، كساني كه نماز بر پا ميدارند و در حال ركـوع
زكات ميدهند!

ي شما االله و پيامبران او و كساني هستند كه ايمان آوردند و آنان كه نماز بر پا داشته و زكات ميدهند در حالي كـه 3) تنها ول
در ركوعاند!

4) فقط خدا و پيامبرش و كساني كه ايمان آوردند سرپرست شما بودهاند و آنان كه نماز اقامه كردند و در حـال ركـوع زكـات
دادهاند!

ّكل  جمعة  ربعاً و نحن فَِ رحونَ!»:نصعد ذلك الجبل المرتفع و نبلغ قمّته في الساعة العاشرة إلا27ّ- « 

» -28

ّله ميرسيم! 1) هر روز جمعه از كوه بلند صعود ميكنيم و در ساعت يك ربع به ده با خوشحالي به آن ق
2) هر جمعه ساعت يك ربع به ده از آن كوه بلند بالا ميرويم و در حالي كه خوشحاليم به قلّهاش ميرسيم!

ّلهاش ميرسيم در حالي كه خوشحاليم! 3) همة جمعهها از آن كوه بلند بالا ميرويم و در ساعت ده و ربع به ق
4) هر جمعه از آن كوه بلند بالا ميرويم  و در ساعت يك ربع به ده به قلّهاش ميرسيم در حالي كه خوشحاليم!

ّالحق! َّي إلاّ و قد تحمّل مشاکل کثيرة في طريق دعوة النّاس إلی  »:يُبيّن لنا التاريخ أنّه لا نب

مل نكند! 1) تاريخ برايمان تبيين ميكند كه هيچ پيامبري نيست كه در راه دعوت مردم به حق مشكلات زيادي را تح
متحمل شده 2) تاريخ برايمان آشكار كرده است كه پيامآوري نيست مگر آنكه در راه دعوت مردمان به حق مشكلات فراواني را 

است!
مل سختيهاي بسياري 3) تاريخ براي ما تبيين مينمايد كه هيچ پيامبري نيست مگر آنكه در فراخواندن مردم به حقيقت، متح

بوده است!
تحمـل 4) تاريخ براي ما آشكار ميسازد كه هيچ پيامبري نيست مگر اينكه در مسير دعوت مردم به حـق مشـكلات فراوانـي را 

كرده است!
ُمت مع زميلـي المثـال ُکنت أری تقدّماً في دروسي حتّی تکلّ ي المطالعـة فقلـتُ فـي نفسـي لأجتهـدْو هـو مُ فـي29ّ-« ما  سـتمرّ

مرة  اُخری!»:ّ
1) موفقيتي در دروسم ديده نميشد تا با دوستم صحبت كردم كه در مطالعه بسيار پايدار بود پس در وجود خودم گفـتم بايـد

دوباره تلاش كنم!
درسهايم نميديدم تا اينكه با همكلاسي نمونهام صحبت كردم در حالي كه در مطالعه پايدار بود پس با خودم 2) پيشرفتي در

گفتم بايد بار ديگر تلاش كنم!
3) هيچ پيشرفتي در دروسم نميديدم تا اين كه با دوست برترم صحبت كردم و او در مطالعه استمرار داشت پس با خودم گفتم

بار ديگر تلاش ميكنم!
4) پيشرفتي را در درسم نميديدم تا اينكه با دوست نمونهام صحبت كردم در حالي كه استمرار مطالعاتي داشت پـس بـا خـود

ًا بار ديگر تلاش ميكنم! گفتم قطع
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30-« لا عَظم في ألسنتنا و لكنّنا نستطيع بها أن نكسّر قلوباً لا تكَسّرها الفؤوس!»:
1) در هيچ زباني استخواني نيست، ولي با آنها ميتوانيم قلبهايي را بشكنيم كه تبرها آنها را نميشكنند!

ما با آنها ميتوانستيم دلهايي را بشكنيم كه تبرها آنها را نميشكنند! 2) براي زبانهايمان هيچ استخواني نيست، ا
3) در زبانهايمان هيچ استخواني نيست، ولي به كمك آنها ميتوانيم دلهايي را بشكنيم كه تبرها آنها را نميشكنند!
4) هيچ استخواني در زبانهايمان نيست، ولي ما با آن ميتوانيم دلهايي را بشكنيم كه تبرها قادر به شكستنش نيستند!

ك عبادَ ست31-«  ِ س ه حينَ اُر !ُإنّ الخالق لم يترُ َ ارطَ الم »:لَ أنبياء إليهم يُبِّينون الص قيم
1) بيگمان آفريننده بندگانش را ترك نكرده است وقتي كه پيامبران را به سوي ايشان فرستاد تا راه درست روشن شود!

2) همانا آفريدگار بندگان خود را ترك نميكند هنگامي كه پيامبراني به سوي آنان ميفرستاد كه راه راست را روشن كنند!
رها نميكند آنگاه كه انبياء به سوي آنها فرستاده شـدند تـا راه مسـتقيم را روشـن 3) به درستي كه خالق بندگان خويش را

كنند!
ًا آفريدگار بندگانش را ترك نكرده است هنگامي كه پيامبراني به سوي آنـان فرسـتاده شـدند كـه راه راسـت را روشـن 4) قطع

ميكردند!
ازرعين و هم کانوا يشکون إلی االله من قلّة المطر!32-« ارضي المُ »:في يوم صيفيّ بدأ المطر ينزل علی أ

1) در روزي تابستاني در حالي كه باران شروع به بارش بر زمينهـاي كشـاورزان كـرد، آنـان از كمـي بـاران بـه خـدا شـكايت
ميكردند!

2) باران در روزي تابستاني شروع به باريدن بر زمينهاي كشـاورزان كـرد درحـالي كـه آنـان از كمـي بـاران بـه خـدا شـكايت
ميكردند!

مزرعههاي كشاورزي كرد درحالي كه آنـان از كمبـود بـاران بـه خـدا شـكايت 3) باران در روزي از تابستان شروع به باريدن بر
داشتند!

4) در يك روز تابستاني بارش باران بر زمينهاي كشاورزاني شروع شد كه از كمبود باران نزد خدا شكايت ميكردند!
33- عيّن الصّحيح:

(1:! ّجحلا ةٌضيرف لأيّ  اهيلع ُلسمٍ دقيرُإنّ 
(2

حج براي هر مسلماني كه توانايي آن را دارد واجب ديني است! م
:! َّتر يمامأ اًمئاد َتيل   َ

(3
اي كاش خاطرات زيبا هميشه از برابرم بگذرند! لاتايرکذ ةليمجلا م

:! َ ةيصعملا
َّ

زيارتي كه با گناه همراه باشد نزد خدا قبول نميگردد! لا ةرايز تقُلب دنع هللا عم
فد تاقفن ةعماجلا4)  نأ يَ  !: شايد پدرم ميتوانست هزينههاي دانشگاه را پرداخت كند!َلعل يبأ عُيطتسي ع

ّع ين الخطأ:  -34
ترااضح دق عُتفر لبق ةعبس قَنور!: آيا نخواندهايد كه اين تمدنها هفت قرن پيش شناخته شدهاند! 1) أ مل تَاوؤرق أنّ هذه 
ّلت كشمكش خود مقابل در مدرسه !: دانش آموزان من! دربارة ع مکعراص مامأ باب ةـسردملا 2) يذيملات! حَِّينوثد نع ببس 

 با من سخن بگوييد!

ّلعل يقراس3)  :! اميد است كه سارقان بيت المال همگي براي محاكمـة عادلانـهةمکاح ةلداعلا لّکمـه َنورضح للمُ تيب لاملا يُ
احضار شوند!

(4:!  اهاـضر
 

 

قربانيها براي خدايان تقديم ميشدند تا مـردم خشـنودي آنهـا را بـه نيبرا تقُمد لآلةهل لِبسکي لاانسُ تناک قَلا
دست آورند!

35-« گونهاي از شگفتانگيزترين ماهيان وجود دارد كه حشرات را زنده ميخورد!»:
تراشحلا حةي! ّةيحلا!  2) كانه عون نم كامسلأا ةبيجعلا لكأي  تراشحلا  1) دجوي عون بجعأ نم كامسلأا لكأت 
تراشح حلاةي! تراشحلا حةي!  4) كانه عون نم بجعأ تاکمسلا لكأت   3) دجوي عون نم بجعأ كامسلأا لكأي 
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�v�v) أر النّصّ التاّلي ثمّ أجب عن الأسئلة - ۴۲) بمااِق يُناسب النّصّ:۳۶ 
ما يُديرُإنّ الإسلام يُحارب الفقر و يَعد بأجر کبير للّذين يکسبون حلالاً، و يدعو إلی أن يعمل کلّ فرد ليکسب  به شؤون
َّشجع أصحابه عليه و إن کان بسيطاً، و لا يمتنع نفسه عن َّأحب الرسول(ص)  العملَ و  حياته و حياة من يکفُلهم. لقد 
ّالشأن. وصف النبيّ اليد الّتي تُعطي بأنّها يد عُليا و ذَّم اليد الّتي تعتمِد علی عطايا الآخرين و عمل مهما کان قليل 

ة الّتي من أجلها خلقنا االله تعالی، إنّه ّبالسفلی يُشغل النفس عنوصفها  ارت مختلفة، العمل هو القيام بالمهمّ . للعمل ثم
ارنيّ. ارم و هو سبب في التقدّم الحضاريّ و العم الح

شروعة، ارم کالسرقة و الربا، کذلك فإنّ الإسلام يأمر بالإنفاق في وجوهه المَقد نَهی الإسلام عن کسب المال من الح
.ُساعدة الأقارب. إنّ العمل له في ديننا ما ليس له في أيّکم دين آخر، و لم يُذکر الإيمانُ إلاّ مقروناً بالعمل الصالح

36- عيّن الخطأ حسب النّص:
ّبحأ لامعلأا دنع هللا یلاعت! 1) بسکلا للاحلا نم 

اجأرً يبک ارً! 2) نمؤملا لّايذ بسکي لاًلاح سفهيزجي هللا 
!با يّبنلا3) ناک حصأ نوموقي لامعأب ةطيسب يف مهتايح

4) لا یهني ملاسلإا نع بسک لاملا نم لمعلا امهم ناک ليلق نأشلا!
:  . . . . »؛ عيّن الخطأ: ارت العمل في الإسلام 37- « من ثم

ّةيسفنلا! ترادقلا  مد ءرملا و عمتجملا يف تلااجملا ةفلتخملا!  2) تّلإاءاک یلع سفنلا و 
 

(1

ُّ 1) قت
مراحلا! 4) لاغشإ سفنلا نع  3) تِملااعان نع لوبق ةدعاسم نيرخلآا!

38- عيّن ما لم يُذکر في النّص:
!ّلا إنّ هللا یلاعت دق ظّعم نأش لامع

2) لمع نمؤملا يف هتايح ةملاع ناميلإا يقيقحلا!
3) دق شُعج نوملسملا یلع لمعلا و ثحبلا نع قزرلا!

بسح ةرظن ملاسلإا قافنإ لاوملأا مهأ نم بسکلا للاحلا!4ّ)
39- عيّن العنوان المناسب للنّص:

1) لمعلا ةآرم قلاخأ ءرملا! 2) لضف لمعلا يف ملاسلإا!
ك حاجن لأا دراف و لاُامم!   4) ةناکم قافنلإا يف ميلاعتلا ملاسلإاةي!3ّ)   لمعلا رحم

- ّ(۴۲ عيّن الخطأ (  ۴۰ ارب و التّحليل الصّرفي في الإع
ساعدة »-40ُ:« م

ِدعاس) ِ؛دعاس و مسا هلعاف:  1) مسا – ؤمثن – ردصم (هلعف عراضملا: يُ
ّةيلصلأا: س ع د( َ؛دعاس هعراضم: ؛دعاسي هفورح  2) ردصم (هيضام: 

َةلعاف) / رورجم فرحب اجرّ 3) مسا – درفم ؤمثن –  ردصم (یلع نزو: مُ
؛ کمُةدعاس:4) دئزا / رورجم فرحب رجلا و رورجمّ ّةيلصأ و فرح  اجرّ،ردصم هل ةثلاث فورح 

41-«يکسب»:

(2ّ
- درفملل ّةيسرافلا)  يمزاتللاا يف  1) عراضم (لداعم عراضملل 

- مولعم / لعف و ؛لعاف هلوعفم: « ام » رکذملل – هردصم: «کبس» 
- مولعم3ّ) دئزا  ّةيلصلأا: ک س ؛ب سيل هل فرح  رکذملل – امهتد وأ هفورح 

ّةيلعف رکذملا بئاغلا – هردصم: « باستکا » / لعف و ؛لعاف ةلمجلا 

(2ّ

ّ 4) هتغيص درفملل 
42-«يُشغل»:

1) لعف عراضم – بئاغلل – مولعم / لعف و لعاف ، هلوعفم: سفنلا
ّةيلعف دئزا دحاو  / ةلمجلا  ّةيلصأ: ش غ ل و فرح  رکذملل – هل ةثلاث فورح 

ّ ّةيلعف3) درفملل  - مولعم / لعف و ؛لعاف ةلمجلا  رکذملا – هردصم: « لاغشإ » یلع نزو: لاعفإ 
ِ َ؛لغشأ هرمأ:  دئزا دحاو(= ديزم يثلاث) / لعف و هلعاف « سفنلا »4) عراضم – هيضام:  ؛لغشأ هل فرح 
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(1

(۵۰ - �v�v عيّن المناسب للجواب عن الأسئلة التّالية (۴۳ 
43- عيّن الخطأ في ضبط حرکات الحروف:

ماعلُ طلاُّلاّبَ يف لادمرَةس بِلُخق حَنس! َِ ناك لالعمِّمُ يُ
ِ ءراح  ُّي (ص) تَيعََّدب يف راغ  َّتِمه!2)  لاَّبن عقاولا يف قِ َناك

ةُ رزةع!ّار3َ)  زاموعرنُ للعَمَلِ يف مَلارجلا سَايةٌر تَسيخدَاهم لا
َّن لا تَرمعف4(  أ ين!رَاغ عُقي فَوقَ جَلب مُأ لا تَلع َّن يلجر تُؤلِمُ  و أ

44- عيّن الصّحيح عن المفردات:
ةاو يِامتنول1) إنّ ةيذغت كامسأ ةنيزلا ةبعص ىلع   �8 فدراتم)  ) : ةيساق ، هُلام

تيوحلاصن2َ) لَان ءابرقأ  ىقبي مهمسا حاًي و نإ اوناك  �8 : (درفم)  قُنابر ، مَتاومأ اً
سئراف �8 رغاصأ ،  ّةيحلا: (عمج)  3) يه عفادت نع اهدلو ريغصلا و لكأت ةسيرفلا 

اه: (داضتم) ُّبنج  نيبرا دادزا اضرل ةهللآا و تَ �8 صقن ، داعتبا4( ناك ميدقت قَلا شرّ
َحسب التوضيحات) 45- عيّن الخطأ: (

َفينحلا: كرات ّقحلا!1ُ)  لطابلا و ليامتملا یلإ لانيد 
ايثکرً رملأ وأ لمعمُـلاطعَّل: لاخشص2ُ)  لّا !يذ تنيرُظ 

ترااي و تلافاحلا يف لامُند!3) ُناکم فوقو لاسّ ـلاومفق: 
ُ َديدحلا!4) سأفلا: ةٌلآ   تاذ دي نم خَبش و سِنّ ةضيرع نم 

ُ « . . . . ناسنلاا لقاعلا ي َحئاصن خلآا46-  . . . . لّايذ يلبق  ِّبکت ارًيرنَ و  ُوکنُ 
َ 1َّ) إامن /  َّتيل  2) أنّ /  نکل  3) إنّ / 

ارغين: م نِتميع نم اهلوبق!»؛عيّن الصّحيح للف
َّنکل لعل  4) إنّ / 

 

(2

ّالظن»: ّالشک أو  47- عيّن عبارة ليس فيها ما يبيّن «
لزالز لبق هثودح! 1) دق عيطتسي رشبلا اًموي نأ كردي نامز لا
ّلعل ضعب مولعلا لّايت لّعتناهم يف ةسردملا لا ةدئاف اهل!   

(3ّ نأک لابجلا ةدمعأ ثتتب لاءامس وأ طُکرقٍ تُانلصو اهيلإ! 
َّي نوکي يف يداعتبا نع رلاةضاي!4) ّنأک یضر دلاو  

 

48- عيّن « لا » تختلف في المعنی و النّوع:
1) أاهي ناوخلإا! لا ةرهاظم قثوأ نم ةرواشملا!

ةءراقلاب لا مه لّانيذ لا ةفرعم مهدنع   (2ّ! ءلاؤه هجلا
ّباشلا لصي یلإ هتاياغ لملأاب لا رورغلاب!  3) إامن 

! ّةيبنجلأا ّ ن انءانبأ نورعشي ةدحولاب يف دلابلا  4) لا بجع أ
49- عيّن کلمةً تُ شير إلی حالة الإسم عند حدوث الفعل:

! يرأتُ اًدلو اًحجان نيب طلاّبٍ اوناک يرورسمن1َ)
(2ُ

 

 

اهع! مَعفادت ةکمس تلاايبلاي نع اهراغص ةرئاس 
﴾ . . . 3) ﴿ و لا تَاونه و لا تَحاونز و متنأ لَعلأانو 

ُنِيعَامه! یرأ اعومدً  تَتَقَاسطُ نم أ 4) لجرلا رظن امهيلإ و 
50-عيّ ن اسم الفاعل يکون حالاً:

ّلح انتلکشم و وه مُحنس يف هلمع!1) کح َاندعاس يف  مَ يبانن وجعزٌ و 
ةًعج نم لبق ريهامجلا!

(3 

َّ ّةيبهذ شم 2) هذه لاةبعلا حَلَصت یلع لادمةي 
ِّش يبترا!ُيدرُ ةکرشلا نِاجببهِ يف لاتَؤمرم مُب ارً دايدزإب  لَجأينس م

! لصِّاًح ة اطقلارِ م4ُ) رزتُ يف يرفس عم يخأ يف طّحم
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ميشود؟ بهترتيب، «تقويت محبت خداوند در قلب مؤمن» و «آزمايش اخلاص» با كدام راه تقويت اخلاص ميسر -66
1) افزايش معرفت و شناخت نسبت به خداوند – دوري از گناه و تلاش براي انجام واجبات
2) راز و نياز با خداوند و كمك خواستن از او – دوري از گناه و تلاش براي انجام واجبات
3) راز و نياز با خداوند و كمك خواستن از او – نفوذناپذيري در برابر وسوسههاي شيطان
4) افزايش معرفت و شناخت نسبت به خداوند - نفوذناپذيري در برابر وسوسههاي شيطان

خداوند در قرآن كريم كدام يك از ميوههاي درخت اخلاص را براي حضرت لقمان بيان كرده است و آنگاه كه موفقيت در مرحلهاي سـبب ورود بـه -67
مرحلهاي برتر ميشود، بيانگر كدام سنت الهي است؟

1) نفوذناپذيري در برابر وسوسههاي شيطان- امداد عام  2) دستيابي به درجاتي از حكمت - ابتلاء
3) نفوذناپذيري در برابر وسوسههاي شيطان- ابتلاء  4) دستيابي به درجاتي از حكمت – امداد عام

داشته باشيم؟ الهياند.» كداميك را بايد مدنظر اگر بگوييم: «مخلوقات عالم تكوين وابسته به قضاي -68
1) علم و حكمت الهي سرچشمه و خاستگاه اراده و خواست الهي و اجرا و پياده كردن است.

2) نقشة جهان با همة مخلوقات عالم و ريزهكاريها و قوانين آن، همه از آن خداوند است.
3) خداوند با علم خويش اندازه، حدود و ويژگيهاي مخلوقات را تعيين ميكند.

4) ايجاد شدن جهان خلقت با حكم و فرمان الهي انجام ميپذيرد.
كداميك از مفاهيم زير است؟ آية شريفة «ذلك بما قدمت ايديكم و ان االله ليس بظلام للعبيد» ناظر بر -69

1) دريغ و آزرم و تحقق كار ناشي از تصميم عاقلانة خود
2) پذيرش عواقب كار و عمل و مسئوليتپذيري ناشي از وجود اختيار در خود

3) اذعان و تصريح به اختيار محدودي كه به صورت طبيعي انجام ميشود.
4) جوانب امور را سنجيدن و ميان چندين راه و چندين كار يكي را برگزيدن

70-«سنجش جوانب» نشانة آشكاري براي تحقق مفهوم مندرج در كدام آية شريفه است؟
1) «الم اعهد اليكم يا بنيآدم ان ...»

2) «و من الناس من يعبد االله علي …»
3) «قد جاءكم بصائر من ربكم فمن …«

4) «من جاء[��È�À�˄�v�·�Z فله عشر امثالها …»
من حيث لا يعلمون» قابل توصيف است؟ 71-كدام سنت الهي از استناد به عبارت قرآني «

1) سنتي هميشگي كه شامل همة انسانها در همة دورانها ميشود و هر انساني چه مؤمن و چه كافر همواره درگير آن است.
2) سنتي كه با مهلت و نعمت با اختيار خودشان بهصورت بلاي الهي جلوهگر شده و باعث سنگين شدن بار گناهان ميشود.

3) سنتي كه شامل حال كساني است كه در راه حق قدم ميگذارند و سعادت اخروي و رضايت پروردگار را هدف خود قرار ميدهند.
4) سنتي كه انسان در همان مسيري كه انتخاب كرده است، به پيش رود و باطن خود را آشكار كند.

72-مطابق با آيات قرآن، مواد امتحاني خداوند متعال چيست و كدام نگرش در مورد اين سنت الهي احتياج به اصلاح دارد؟
1) «من عطاء   ربك» - «و هم لا يظلمون»  2) «بالشر و الخير» - «و هم لا يظلمون»
- «و هم لا يفتنون» 3) «من عطاء   ربك» - «و هم لا يفتنون»  4) «بالشر و الخير»

73-كدام آية شريفه، ترجمان ديگري از اين آيات است كه: «كساني كه زندگي دنيا و تجملات آن   را بخواهند، حاصل كارهايشان را در همين دنيا به آنان
ميدهيم و كم و كاستي نخواهند ديد …»؟

2) «والذين كذبوا بĤياتنا سنستدرجهم …» 1) «من جاء[��È�À�˄�v�·�Z فله عشر امثالها و…»
3) «كلا نمد هؤلاء و هؤلاء من عطا ربك و …»  4) «و لو ان اهل القري آمنوا و اتقوا لفتحنا …»

74- كدام مورد تجلي تقدير الهي، زمينهساز حركت و پويايي انسان و بهكارگيري اراده و اختيار انسان است و براساس آيات قرآن چه كساني در معرض
ميگيرند؟ امتحان و آزمايش الهي قرار

1) قوانين حاكم بر زندگي انسانها – همة انسانها  2) قوانين حاكم بر جهان خلقت – همة انسانها
3) قوانين حاكم بر زندگي انسانها – همة مؤمنان  4) قوانين حاكم بر جهان خلقت – همة مؤمنان

75-تمامي انسانها مشمول كدام سنت الهي در همة احوال ميشوند و كدام آية شريفه مبين اين سنت است؟
1) املاء - «والذين كذبوا باياتنا سنستدرجهم...»  2) ابتلاء - «والذين كذبوا باياتنا سنستدرجهم...»

ٍس - «كل نف 4) املاء ٍنفس{��È�¬�W�Y الموت و نبلوكم...» {��È�¬�W�Y الموت و نبلوكم...»3) ابتلاء - «كل 
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PART A: Grammar and Vocabulary 
Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes each sentence. Then mark the correct 
choice on your answer sheet. 

76- What you will be able to do at the end of the course depends on how much time you 
spend on doing your assignments, …? 

1) won’t you 2) don’t you 
3) doesn’t it 4) won’t it 

77- I think the young man in the blue shirt … visiting the museum is a tourist from Germany. 
1) which is 2) which 
3) who is 4) who 

78- Although no cure for AIDS …, doctors are able to help the seriously-ill patients experience less pain. 
1) has found 2) has been found 
3) have been found 4) have found 

79- I left a message for my friend and asked him to call me as soon as possible, ... my call. 
1) but he didn’t return 2) who wasn’t returned 
3) and he wasn’t retuned 4) which didn’t return 

80- Results from a 2013 study support the idea that loving children … improves their lifelong health and 
wellness. 

1) repeatedly 2) immorally 
3) unnecessarily 4) unconditionally 

81- I do not know what I’d have done without Mary when I was ill—she is an absolute … . 
1) symbol 2) treasure 
3) inspiration 4) instance 

82- Because some students tend to … while texting, it is harder for them to get back in the habit of writing 
sentences complete. 

1) introduce 2) expand 
3) communicate 4) abbreviate 

83- To tell the truth, I don’t agree with my mother in this case, but I respect her for sticking to her … . 
1) principles 2) guidelines 
3) recommendations 4) collections 

84- Yesterday, the police officer gave me directions to the hospital, but they were so … that I got lost. 
1) parposeful 2) comprehensible 
3) complicated 4) systematic 

85- At first, Salim did not believe in his abilities, and he thought he was a/an … man who was no different 
from anyone else. 

1) distinguished 2) ordinary 
3) peaceful 4) dedicated 

زبان انگليسي 3
زبان انگليسي 3

كل مباحث نيمسال اول
درس 1 و 2

صفحة 15 تا صفحة 59

دقيقه دانشآموزان گرامي در صورتي كه شما زبان غيرانگليسي (فرانسه يا آلماني) آزمون ميدهيد، سؤالهاي مربوط به خود را20
(در صورت حضوري بودن) از مسئولين حوزه و در صورت غيرحضوري بودن از سايت كانون دريافت كنيد.

تمرين تستي آزمون بعدي از كتابسهسطحي
سؤال 1 تا 536 / 536 سؤال
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86- To help the elderly have a better social life and toprevent their isolation and loneliness, we … social 

events to bring them together. 

1) reply 2) arrange 

3) regard 4) respect 

87- Since caffeine can cause dehydration and other health problems, most physicians agree that the 

consumption of foods and drinks … caffeine should be limited. 

1) considering 2) confirming 

3) combining 4) containing 

PART B: Cloze Test 

Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits each space. Then mark the correct choice on your 

answer sheet. 

A man named Christopher Sholes, the inventor of the typewriter, came up with a keyboard in the 1860s. 

Sholes first placed the letters in alphabetical …(88)… on his typewriter. But he found there was a problem. 

The letters were on typebars—also called keys—and someof these keys crashed into one another. This 

happened when letters …(89)… in words, like “s” and “l”, were near each other on the keyboard. 

Sholes tried to …(90)… a way to keep the keys fromhitting one another. He made a list of letters …(91)… 

used together in English, like “s” and “l”, or “q” and “u”.  He then rearranged these lteters so they would be on 

opposite sides of the keyboard. This keyboard bemcae known as QWERTY. People have come up with 

alternative keyboard patterns, but so far, none has gaindemuch popularity. It does not appear that it …(92)… 

any time soon by a faster, more efficient keyboard. 

88- 1) issue   2) order 3) entry 4) origin 

89- 1) that often come together  2) that they often come together 

3) which comes often together 4) which they together often come 

90- 1) figure out  2) stand for 3) look up 4) jump into 

91- 1) effectively  2) suddenly 3) accidentally 4) commonly 

92- 1) is going to replace 2) has replaced 

3) is going to be replaced  4) has been replaced 

PART C: Reading Comprehension 

Directions: Read the following passages and answer the questionscbhyo osing the best choice (1), (2), (3), or (4). Then marhket correct choice on your 

answer sheet .

PASSEGE 1: 

Last summer, over 12,000 fans were at Wembley Stadium in London, shouting and cheering. Thousands 

more were watching online. But this wasn’t a football,basketball or tennis match. It was esports, or 

competitive computer gaming. Millions of people in the UK play games for fun. Some of them have become 

professional gamers, playing games as their full-time job.It’s not easy to be a professional gamer, though. 

They practice for ten or more hours a day, five or six days a week. They do exercises like typing something 

and trying to type it faster and faster. They also studyvideos of other players and plan ways to beat them. 
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But are esports really sports? Are players athletes? Some say no. Esports players don’t need to run, jump, 

throw or do big physical actions. At the moment, the UK government classifies esports as kinds of games, not 

as sports. But others say yes: esports are sports. Players do need some physical skills, especially hand-eye 

coordination, reflexes, accuracy and timing. If darts,snooker and shooting are classified as sports, then 

perhaps esports should be too. In fact, the governments of China and South Korea do classify esports as 

sports, and they will be an official medal sport in the Asian Games starting from 2022. 

For many esports fans and players, though, the most important thing is that esports are growing in 

popularity and importance. If they are not as prominent as sports at the moment, they absolutely will be in 

the near future. 

93- Which of the following has been defined in the passage? 

1) medal sport (paragraph 2) 

2) hand-eye coordination (paragraph 2) 

3) full-time job (paragraph 1) 

4) esports (paragraph 1) 

94- It can be inferred from paragraph 2 that those who say esports are sports argue that … . 

1) although esports need no physical activity, hand-eye coordination is needed and therefore they should be 

considered as sports 

2) darts, snooker, and shooting are notsports either because accuracy, timing, and hand-eye coordination is not 

very important in them 

3) since esports need the same skills as sports like darts or shooting, they should be classified as sports as well 

4) because the governments of China and South Korea classify esports as sports, they should be classified as 

sports all around the world 

95- Which of the following best describes the author’s attitude towards the future of esports? 

1) Hopeful 2) Uncertain 

3) Worried 4) Amazed 

96- The underlined word “prominent” in paragraph 3 is closest in meaning to … . 

1) dangerous 2) confusing 

3) fortunate 4) important 

PASSEGE 2: 

Indeed, one of the most critical branches of oceanography today is known as biological oceanography. It is 

the study of the ocean’s plants and animals and their interactions with the marine environment. But 

oceanography is not just about study and research. It isalso about using that information to help leaders 

make smart choices about policies that affect ocean health. Lessons learned through oceanography affect the 

ways humans use the sea for transportation, food, energy, water, and much more. 

Of course, oceanography covers more than the living organisms in the sea. A branch of oceanography 
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called geological oceanography focuses on the formation of the seafloor and how it changes over time. 

Geological oceanographers are starting to use special GPS technology to map the seafloor and other 

underwater features. This research can provide critical information such as seismic activity. This 

information could lead to more accurate earthquake and tsunami prediction. 

In addition to biological and geological oceanography, there are two other main branches of sea science. 

One is physical oceanography, the study of the relationships between the seafloor, the coastline, and 

the atmosphere. The other is chemical oceanography, the study of the chemical composition of seawater and 

how it is affected by weather, human activities, and other factors. 

97- The passage is primarily concerned with which of the following questions? 

1) Why is it that biological oceanography is one of the most critical branches of oceanography today? 

2) What are the main differences between biological and geological oceanography? 

3) How does oceanography apply chemistry, geology, meteorology, and biology to the study of the ocean? 

4) What are the different branches of oceanography and their included subjects? 

98- According to the passage, which of the following subjects is studied in geological oceanography? 

1) The relationship between the coastline and the atmosphere 

2) The way the ocean’s plants and animals influence the marine environment 

3) The formation of the seafloor and the way it is influenced by time 

4) The study of the ways humans use the oceans for transportation 

99- It can be logically inferred from the passage that … . 

1) the technology used by geological oceanographers has existed for centuries 

2) nowadays, the role of oceanographers is not as important as it used to be 

3) the information provided by biological oceanographers is totally useless to leaders 

4) seismic activity could help scientists predict tsunamis and earthquakes 

100- The underlined phrase “the other” in paragraph 3 refers to … . 

1) one of the main branches of sea science 

2) the atmosphere 

3) physical oceanography 

4) the chemical composition of seawater 
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Part A: Grammar  

Directions: Questions 101-110 are incomplete seennctes. Beneath each sentence ywill see four words or phrases ou 
marked (1), (2), (3), and (4). Choose the one word or phrase that best completes the sentence. Then mark the correct 
choice on your answer sheet. 

101-Over the past two decades, there … numerous reportsof damage to automotive paints and other 
coatings. 

1) are 2) had been 3) have been 4) will be 
102-If the government does not spend enough money on hospitals, the health of our society may decline. 

Similarly, if not enough money … on schools, our children may not be properly educated. 
1) spends 2) is spent 3) is spending 4) had been spent 

103-… some people argue that killing animals for research and food is ethical, I personally believe that 
there is sufficient evidence to disprove it and, therefore, steps must be taken to defend the rights of 
animals. 

1) Otherwise 2) Despite 3) Besides 4) Although 
104-The phenomenon that surprised … explained by the leading scientist in the field. 

1) many people was 2) a lot of people were 3) some people are 4) much people is 
105-Incoming radiation energy from the Sun, mostly visible light, penetrates the atmosphere and 

reaches the Earth’s surface,… is partly absorbed. 
1) to that  2) to whom  3) which it 4) where it 

106-John’s father told him, “You are still much too dependent on me. It’s about time you got a job … 
yourself.” 

1) and support 2) and supported 3) or support  4) or supported 
107-Our daughter’s pet hamsters … that we ended up selling many baby hamsters back to the pet 

store. 
1) were so fertile 2) was so fertile  w3)ere such fertile 4) was such fertile 

108-The Barkleys had more kitchen supplies than they needed, so they gave their extra pots and pans 
to their son, … his own apartment. 

1) who has just gotten 2) whom he had just gotten 
3) who had just gotten    4) whom he has just gotten 

109-Someone … solitary work would probably like a job working in a one-person office, rarely seeing 
other people. 

1) enjoy 2) enjoys 
3) who enjoy  4) who enjoys 

110-There is a large contrast between things that fit in the category of junk food and those foods … for 
basic nutrition. 

1) needing 2) that need 3) needed 4) to need

Part B: Vocabulary 

Directions: Questions 111-125 are incomplete sentences. Beneath each sentence you will see four words or phrases 
marked (1), (2), (3), and (4). Choose the one word or phrase that best completes the sentence. Then mark the correct 
choice on your answer sheet.

111-After the conference, the importance of further … efforts in developing trade and investment 
partnership was emphasized. 

1) absurd 2) insane 3) violent 4) joint 
112-Due to their better fuel efficiency and lower harmful …, hybrid cars are now at the forefront of 

transportation technology. 
1) emissions 2) scales 3) benefits 4) margins 

113-The police spokesman said that teh criminal had been … by a surveillance camera at a convenience 
store about an hour ago. 

1) arrested 2) spotted 3) provided 4) shouted 
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114-His address implied that schools and teachers were no longer equipping young people to meet the 
… of industry. 

1) entertainments 2) attractions 3) reactions 4) requirements 
115-Although a couple of inches of rain can seem …, those amounts in a short time period can produce 

flash floods in streets. 
1) imperfect 2) inaccurate 3) insignificant 4) immoral 

116-Domestic waste … valuable raw materials which can be processed and converted into new 
products with the help of effective recycling. 

1) contains 2) confines 3) compels 4) combines 
117-Martial arts star Bruce Lee once said that to succeedin life you should absorb what is useful, reject 

what is useless, and add what is … your own. 
1) gradually 2) interchangeably 3) specifically 4) previously 

118-Many people do not believe in aliens, so the … ofbeing visited by someonefrom a distant planet 
will be doubted by the majority of the population. 

1) likelihood 2) strength 3) estimate 4) demand 
119-Maybe after elections, when the passions will cool down, the whole issue would be considered on its 

merits and demerits without bringing in … and irrelevant issues. 
1) unstable 2) extraneous 3) equivalent 4) fundamental 

120-She was a lady of great …, who spent much of her time helping the poor to create a better future 
for themselves. 

1) prevalence 2) ambience 3) existence 4) benevolence 
121-Alicia has recently taken part in charity and she intends to … the next ten years to doing her 

charitable work. 
1) devote 2) evoke 3) regard 4) relieve 

122-The oxygen-carrying formulations could also be … for the treatment of tumors and cardiovascular 
disease. 

1) unfavorable 2) incomprehensible 3) invaluable 4) disloyal 
123-It is becoming increasingly … that she is ill due to the occurrence of symptoms such as coughing 

and sore throat. 
1) provocative 2) pristine 3) sufficient 4) apparent 

124-Iranian COVID-19 vaccine production is claimed as a major … in the world of medicine and 
pharmacology sciences. 

1) breakthrough 2) probability 3) tendency 4) prescription 
125-To save money on heating bills and create a more functional heating system in your home, … old 

radiators to new radiant floor heating. 
1) consist 2) create 3)convert 4) compare 

Part C: Sentence Structure 

Directions: Choose the sentence with the best word order for each of the following series. Then mark the correct choice 
on your answer sheet. 

126- 
1) Whether or not killing the animals for sport is popular in modern society, remain a contentious issue. 
2) Despite the fact that kill the animals for sport is popular in modern societies, it is remained a 

contentious issue. 
3) Whether or not kill animals for sport is popular in modern societies, is remained a contentious issue. 
4) Despite the fact that killing animals for sport is popular in modern society, it remains a contentious 

issue. 
127- 

1) The arts are very important as it provides our dwworilth so things that science and technology cannot. 
2) The arts are very important as providing our world with so things while science and technology cannot. 
3) The arts are very important and it providing ourrr wold with many things while science and technology 

cannot. 
4) The arts are very important and provide our world with many things that science and technology cannot. 
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128- 
1) I believe since the Internet increased the communication round the world on positive ways, it also led 

to negative effects on the day-to-day human beings social interaction. 
2) I believe that although the Internet has increased the communication around the world in positive ways, 

it has also led to negative effects on the day-to-day social interaction of human beings. 
3) I believe although Internet increased communications around the world on positive ways, it also led to 

negative effects on the day-to-dayc isaol interaction of human beings. 
4) I believe that since Internet has increased comcmautionni s round the world in positive ways, it has also 

led to negative effects on the day-taoy-dhuman beings social interaction. 
129- 

1) Over recent years, the levofel   unemployment has been increasing at an alarming rate in many 
countries around the world. 

2) The level of unemployments have been increasing at an alarmed rate in many countries around the 
world over recent years. 

3) In many countries around the world over recently years, the levels of unemployment has been 
increased at an alarmed rate. 

4) Over recently years, has been enincreased the level of unemploymt at an alarming rate in many 
countries around the world. 

130- 
1) Some people opinion that it would be of use that including international news as a subject in the school 

curriculum, others believe that this is a waste of students’ time. 
2) It would be useful that including international news as a subject in the school curriculum, but some 

people opinion that this is a waste of students’ time. 
3) While some people are of the opinion that it would be useful to include international news as a subject 

in the school curriculum, others believe that this is a waste of students’ time. 
4) Including international news as a subject in the school curriculum, so some people are of the opinion 

that it would be useful, but others believe that this is a waste of students’ time. 

Part D: Language Function 
Directions: Read the following conversations between two people and answer the questions about the conversations by 
choosing one of the choices (1), (2), (3), or (4). Then mark the correct choice on your answer sheet.

A: I suppose it’s …(131)… for John to be promoted; he has written …(132)… on economics, but his 
books have …(133)… unnoticed. 

B: You’re right; he …(134)…, and his efforts should be rewarded. 
131- 1) no picnic 2) high time 

3) at stake 4) out of touch 
132- 1) at all costs 2) a long shot 

3) at first sight 4) a great deal 
133- 1) made 2) taken 3) gone 4) set 
134- 1) hit the roof 2) was two-faced 

3) worked his fingers to the bone  4) got up on the wrong side of the bed 
A: I don’t think we are …(135)… with this project. Are you sure you’ve presented all the details right? 
B: If you think I’m wrong, check in the encyclopediaI.’m sure it will …(136)… . 

135- 1) up in the air 2) on the right lines 3) on full aletr 4) on the blink 
136- 1) let me down 2) rule me out 3) put me off 4) bear me out 

A: I bet you had to …(137)… to get reservations atthis restaurant. It’s absolutely packed here! 
B: The food here is …(138)…, and the ydon’t add extra charges to the bill. 

137-  1) beg the question 2) pull some strings 
3) get the axe 4) let sleeping dogs lie 

l
138-  1) out of this world 2) out of bounds 3) all thumbs 4) all ears 

A: You have to promise to …(139)… . I just found out that Maggie won the eection, but it won’t be 
announced until tomorrow. 

B: Don’t worry. I won’t …(140)… . 
139-  1) come true 2) play with fire 

3) never say die 4) keep this to yourself 
140-  1) take umbrage 2) cut corners 

3) see red 4) spill the beans

�#�N�R�Q�N�X�U�E�D�Q�N�V



�½�Z����Y0]�•�€�•�v�ÊÀ�•»�Z�•�f�y�Y6 �È�v� ̈• -«4» �Ç�ƒ�Á�€�a�É�{24 �½�Â�»�•�M

Part E: Cloze Test 
Directions: Read the following passage and decide which choice (1), (2),(3), or (4) best fits each space. Then mark the 
correct choice on your answer sheet.

Cutting back on television, videos, and video gamesreduces acts of aggression among schoolchildren, 
according to a study by Dr. Thomas Robinson. The study, …(141)… in the January 2001 issue of the 
Archives of Pediatric and Adolescent Medicine, found that third- and fourth-grade students who 
took part in a curriculum to reduce their TV, video, and video game use …(142)… in fewer acts of 
verbal and physicalaggression …(143)… their peers. The study took place in two similar San Jose, 
California, elementary schools. Students in one school underwent an 18-lesson, 6-month program 
designed …(144)… their media usage, while the otrhs did not. Both groups of students had similar e
reports of aggressive behavior at the beginning of the study. After the six-month program, …(145)…, 
the two groups had very real differences. The students who cut back on their TV time committed six 
fewer acts of verbal aggression per hour comapred to their classmaes after the program. t

Although many studies have shown that children who watch a lot of TV…(146)…, this report 
further verifies that television, videos, and video games actually cause the violent behavior, and it is 
among the first to evaluate a …(147)… to the prolbem. Teachers at the intervention school …(148)… 
the program in their existing curriculum. Early lessons encouraged students to …(149)… track of 
and report on the time they spent watching TV or videos, or playing video games, to motivate them 
to limit those activities …(150)… their own. The initial lessons werefollowed by TV-Turnoff, 
…(151)… encourages less TV viewing. For ten days, students were challenged to go without 
television, videos, or video games. After that, teachers encouraged the students to stay within a media 
…(152)… of seven hours per week. Almost all students …(153)… in the Turnoff, and most stayed 
under their budget for the following weeks. …(154)… lessons encouraged children to use their time 
more selectively, and many of the final lessonhsad students …(155)… reducing screen activities. 

141- 1) publishes 2) published 3) publishing 4) to publish 
142- 1) engaged 2) permeated 3) bemused 4) truncated 
143- 1) as 2) than 3) from 4) by 
144- 1) limited 2) limiting 3) to limit 4) which limit 
145- 1) however 2) instead 3) despite 4) besides 
146- 1) violently are more likely to act 2) more likely act are violently 

3) act more likely are violently 4a)re more likely to act violently 
147- 1) pattern 2) solution 3) miracle 4) volume 
148- 1) compiled 2) measured 3) included 4) claimed 
149- 1) keep 2) make 3) take 4) put 
150- 1) of 2) in 3) with 4) on 
151- 1) what 2) when 3) who 4) which 
152- 1) maintenance 2) importance 3) allowance 4) performance 
153- 1) participated 2) who participated  w3)ere participated 4) participating 
154- 1) Delicious 2) Additional 3) Accidental 4) Reluctant 
155- 1) advocate them  2) themselves to advocate 

3) themselves advocate   4) to advocate them 

Part F: Reading Comprehension 
Directions: In this part of the test, you will s foread two passages. Each passage illowed by some questions. Answer the 

chquestions about the passages byoosing the best choice (1), (2), (3), or (4). Then mark the correct choice on your 
answer sheet. 

PASSAGE 1: 
Komodo dragons are the largest living lizards in theworld. They are identified by their massive size, 
flat heads, bowed legs and long, thick tails. They come in a variety of colors, including blue, orange, 
green and gray. Their skin is rough and durable, reinforced with bony plates called osteoderms. 
They have long claws. The name comes from rumorsthat a large dragon-like creature lived on the 
Indonesian island of Komodo. No Western scientists had seen a Komodo dragon until 1912. Local 
people call them “ora” or “land crocodile”. 

[A]  Komodos have good vision; they can see objects as far away as 985 feet. They are also speedy, 
but they can only run in a straight line. They can run briefly up to 13 mph but prefer to hunt by 
stealth—waiting for hours until prey cross their path. [B] Komodo dragons, like snakes, use their 
forked tongues to sample the air,and then touch the tongue to the roof of their mouth, where special 
organs analyze the airborne molecules. [C] If the left tongue tip has more concentrated “smell,” the 
dragon knows that their prey is approaching from the left. [D] 
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Komodo dragons are rare and are found in the wild only on five islands: the Lesser Sunda Islands 
of Komodo, Rinca, Gili Montang and Gili Dasami—all within Komodo National Park—and the 
island of Flores, where the Komodo roams freelyT. he lizard’s habitat can be anything from a 
tropical dry forest to a savannah. No matter where they live, the Komodo likes extreme heat. It is 
usually around 35 degrees Celsius with 70e-prcent humidity on the islands of Indonesia. 

Komodo dragons are carnivores, meaning they eat meat. They are such fierce hunters that they 
can eat very large prey, such as large water buffalo, deer, crabs, fish, pigs and even humans. The 
Komodo has a unique way of killing its prey. First,i t springs up and knocks the prey over with its 
huge feet. Then they use their sharp teeth—whichr ea a lot like a shark’s—to kill their prey. Even if 
the prey escapes, it will die within 24 hours of bolod poisoning because the Komodo’s saliva contains 
50 different strains of bacteria. With its fantastic sense of smell, the Komodo will find the dead 
animal and finish its meal. 

156-Which of the following has NOT been discussed in the passage? 
1) Komodo dragons’ taxonomy 
2) Komodo dragons’ physical characteristics 
3) Komodo dragons’ natural habitat 
4) Komodo dragons’ hunting method 

157-According to the passage, all of the following statements are true EXCEPT … . 
1) Komodo dragons can move quickly over short dista,nbcuetsthey generally prefer to be stealthy hunters 
2) Komodo dragons were unknown to Western scientists until 1912, and their name has come from rumors 
3) osteoderms are bony plates that serve to strengthen the skin of the Komodo dragons 
4) Komodo dragons’ saliva often kills their prey before it manages to escape 

158-The letters [A], [B], [C] and [D] in the second paragraph indicate where the following sentence 
could be added. Where would the sentence best fit? 
“Their sense of smell is their primary way of finding food, however.” 

1) [A]    2) [B]  3) [C]  4) [D] 
159-According to the passage, the Komodo dragons’ sense of smell is similar to that of which of the 

following animals? 
1) Snakes   2) Humans 3) Pigs 4) Sharks 

160-The underlined word “fierce” in the last paragraph is closest in meaning to … . 
1) domestic 2) tame 3) nocturnal 4) ferocious 

161-The passage provides enough information to answer all of the following questions EXCEPT … . 
1) Komodo dragons’ sharp teeth are similar to those of which animal? 
2) What do the local people call Komodo dragons? 
3) How do Komodo dragons defend their nests and hatchlings? 
4) How do Komodo dragons locate their prey after it has died of blood poisoning? 

162-It can be logically inferred from the passage that … . 
1) smaller Komodo dragons are normally eaten by larger Komodo dragons 
2) female Komodo dragons can reproduce with or without the presence of males 
3) Komodo dragons make excellent house pets as they can eat almost anything 
4) running in a zigzag line can stop Komodo dragons from chasing you 

163-This passage would most likely be found in/on a … . 
1) famous medical periodical 
2) website about astrology 
3) popular science newsletter 
4) book about the plant life of Indonesia 

PASSAGE 2: 
For a century and a half, the piano has been one ofthe most popular soloinstruments for Western 
music. Unlike string and wind instruments, the piano is cmpletely self-sufficient, as it is able to play o
both the melody and its accompanying harmony at the same time. For this reason, it became the 
favorite household instrument of the nineteenth century. 
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The ancestry of the piano can be traced to the early keyboard instruments of the fifteenth and 

sixteenth centuries—the spinet, the dulcimer, and the virginal. In the seventeenth century the organ, 

the clavichord, and the harpsichord became the chief instruments of the keyboard group, a 

supremacy they maintained until the piano replaced them at the end of the eighteenth century. The 

clavichord’s tone was metallic and never powerful, nevertheless, because of the variety of tone 

possible to it, many composers found the clavichord a sympathetic instrument for intimate chamber 

music. The harpsichord with its bright, vigorous tone was the favorite instrument for supporting the 

bass of the small orchestra of the period and for concert use, but the character of the tone could not 

be varied. 

The piano was perfected in the early eighteenth century by a harpsichord maker in Italy (though 

musicologists point out several previous instances of the instrument). This instrument was called a 

piano e forte (soft mid loud), to indicate its dynamic versatility; its strings were struck by a recoiling 

hammer with a felt-padded head. The wires were much heavier in the earlier instruments. A series of 

mechanical improvements continuing well into the nineteenth century, including the introduction of 

pedals to sustain tone or to soften it, the perfection of a metal frame, and steel wire of the finest 

quality, finally produced an instrument capable of myriad tonal effects from the most delicate 

harmonies to an almost orchestral fullness of sound, from a liquid, singing tone to sharp, percussive 

brilliance. 

164-What does the passage mainly discuss? 

1) The historical development of the piano 

2) The quality of tone produced by various keyboard instruments 

3) The uses of keyboard instruments in various types of compositions 

4) The popularity of the piano with composers 

165-Which of the following instruments was widely used before the seventeenth century? 

1) The harpsichord 2) The spinet 

3) The clavichord 4) The organ 

166-The underlined word “supremacy” in paragraph 2 is closest in meaning to … . 

1) suggestion 2) improvement 

3) dominance  4) development 

167-The underlined pronoun “it” in paragraph 2 refers to the … . 

1) variety 2) music 

3) harpsichord      4) clavichord 

168-According to the passage, what deficiency did the harpsichord have? 

1) It was fragile. 

2) It lacked variety in tone. 

3) It sounded metallic. 

4) It could not produce a strong sound. 

169-Which of the following was most probable to be found in a concert in the seventeenth century? 

1) The organ 2) The clavichord 

3) The harpsichord 4) The piano 

170-According to the information in the third paragraph, which of the following improvements made it 

possible to lengthen the tone produced by the piano? 

1) The introduction of pedals 

2) The use of heavy wires 

3) The use of felt-padded hammerheads 

4) The metal frame construction 
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